faill: 947
fail2: 1144
faild: 634
fail4: 608
failb: 1157
fail: 509
totBad 1914
totCnt21561

20

20

20

7\‘ T T T T T T T x | I
| %? %%i ¥ \
e & |
T e % Xy
— ‘%& *% ¥ %ﬁ* *
| \
mo X %%% |
- TKAR ¥
L x M
KR x
- X + X X \
- e Xt X
o I | :
L % m%%% L K _|
. \ ¥ _
L | i
- | i
[ 1 ‘ S S S SR B P i
0 100 200 300
az
apr 2008 distomats 2,3 failures (T4) * DIST2 + DISTS
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apr 2008 distomats 4,5 failures (T8) * DIST4 + DISTS
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apr 2008 distomats 1,6 failures (T12)  * DISTT + DIST6 GoodDist:0



faill:
fail2:
fail3:
fail4:
failb:
failb:
totBad
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947
1144
634
608
1157
509
1914
21561
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opr2008 d@towmﬁsIZB hmMres(T4) * DIST2 + DIST3
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